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INSTRUCTIONS TO PUPILS
1 Do not tum over the pages until you are told 16 do so.
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Follow all instructions carefully.

There are 17 guestions In this bookiet.

Answer ALL questiahs.

Shade your answers in the Optical Answer Sheet (OASS provided.
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 This question paper consists of 8 printed pages (inclusive of cover page).
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Section A

Questions 1 to 4 carry 1 mark each. Questions 5 to 17 carry 2 marks each,

For each question, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 of 4). Shade the correct oval (1, 2, 3 or 4} on the
Optical Answer Sheet (OAS). _ {30 marks)

1. The value of the digit 4in 3149 is

1} 4ones
2) 4tens
3) 40ones
4 40tens

2. 54 = =2x3

1) 6
2) 9
3) 18
4) 27

4
3 Which fraction is equivalent fo = ?

5

y A
) 15
2 g
} 15
12

3) 5
a 4
) 15
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4.

‘What is the area of the-shaded figure below?

R I S
2
£ &5
-+ .
. !
| E: k: h
ar - K, 3
Bt 3 -
i ik
T 2]
) gy 4
Yad Bt el I
iz 7 R
-

Jrom

1) 24 om?
2) 25 om?
3) 26 cm?
4) 28 cm?

| 1. 71
Subtract 3 from 12

1
2)

3)

N R L

4)
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Which of the folfowing fraction is greater than % ?

1) %
2 2
y 2
n &

What is the time shown on the clock below?

1) 40 minutes past 5
2) 8 minutes past 4
3} 20 minutes to 4
4} 20 minutesio 5

The differerice between two numbers Is 1635. The smaller number is 4235.
What is the other number?

1) 1300
2) 2600
3) 2835
4y 5870

Page Afof 8
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Complete the number pattem below

6059,6150,6250, 6459
1) 6269
2) 6339

3) 6359
4) 6369

What is the perimeter of the square below?

1) 14 cm
2} 21 cm
3) 28cm
4) 48 cm

The mass of an adult Zebra is 268 kg. The adult Zebra is 6 times as heavyas a
bab} Zebra, What is the mass of tf}e-baby Zebra?

1) 42 kg
2) 43 kg
3) 44 kg
4) 45kg

Page ASof 8
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12. This graph below shows the number of different coloured plastic cups
Peter had.

40 ]

32t

24

16

Which coloured plastic cups is 3 times the number of Red plastic cups?

1) Blue

2} Red

3) Yellow
- 4) Green

Page AGof 8
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13.

14,

18.
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Linda was at her friend’s house from 11.40 a.m. fo 2.25 p.m.
How long was Linda at her fiend’s house?

1} 2h 20 min

2) 2h 26 min

3) 2h 40 min
4) 2h 46 min

Siti and Jenny have 2358 beads. Sitl has 814 beads. How many
more beads does Jenny have than Siti?

1)

2
3)
4)

730
814

1544
372

. Joshua bought 2 toy car which cost $14.60. He paid with two $10

netes. How much change did he receive?

1)

2y

)
4)

$4.60

$5.40

$5.60
$6.60

Pags A7 of 8
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16.  John had 1250 mi of milk. He poured all the milk into containers A,
B and C without spilling. How much milk was there in container C?

1} 240 ml
2). 370 mf
3) 680G mf
4) 930 mf

17. Azwan had a piece of string. He needed 159 em of string to fie a
box. He found that he was short of 40 cm to tie the box. What was
the fength of string Azwan had In metres and centimeires?

1} 1m18cm
2) 1Tm83cm
3) 11 m8cm
4} 19m9cm

End of Bookiet A
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PRIMARY 3
MATHEMATICS
Booklet B
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Name: | ) Class: 3.(
INSTRUCTIONS TO PUPILS ‘
1 Do not turn over the pages until you are told to do so.

Follow all instructions carefully.
There are 23 questions in this booklet.

1 h 45 min

) Parent’s Signature:

Answer ALL questions,
Possible Marks
Section
Marks Obtained
A 30
B 30
c 20
Total 80

This question paper consists of 15 printed pages (inclusive of cover page).

www.testpapersfree.com

BP~331



Section B

Cuiestions 18 to 21 carry 1 mark each. Questions 22 to 34 cairy 2 marks sach.
Show your working clearly and write your answers in the boxes provided. For
questions “which Tequire units, give your answers in the units stated.
(30 marks) '

18.  Wiite 8 thousand, 3 hundred and 5 ones in numerak

18.  Find the product of 437 and 8.

20. The figure below is made up of 20 identical rectangles.

Shade some of the rectangles in the figure to show% of it is shaded.

BP-332
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21. In Restangle ABCD below, AB is twice the length of BC.

P 8ecm
A ) B
D ¢
Find the area of Rectangle ABCD.

em?

22,  Find the sum of % and%.

Page B3 of 15
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23 Arranige the following fractions in order, beginning with the greatest.

4 4 4
9117

greatest

24,  Mrs Bala sold 1088 cookies on Monday. She soid 188 fewer cookies
on Monday thart on Tuesday. How many cookies did she sell on
Tuesday?

25. Use the digits 5, 3, 6, 1 o form the grealest 4 — digit number. Subtract
the number from 8000.

BP-~334
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26.  Gareth has $60. His sister has $19.75 less than him.
How much does his sister have?

27. The mass of a rectangufar block and a ball is as shown below. The
mass of the ball is 980 g. What is the mass of the rectangular block?
Glve your answer in grams. ‘

Page B5of 15 Sub-Total :
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28. The bar graph below shows the number of flowers a florist sold from
Monday to Friday.

" Friday 8
. Thursday
Wednesday
Tuesday 5
Monday BB
0 10 20 30 40 50 60
MNumber of flowers '

Find the iotal number of flowers sold from Monday to Friday?

BP-~336
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29. Ravi took 1 h 21 min to cycle from his house to his workplace.
He reached his workplace at 8.18 am. At What time did he start
cycling?

30. Look at the numbers below.
9876, 87986, 9786, 8679
What is 1000 less than the greatest number?
Page B7 of 15 Sub-Total :
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31.  There are 1378 giris and 1258 boys in a school.
1045 pupiis do not wear spectacles.
How many pupils wear speciacles?

32.  ‘When a number is divided by 6, i has a remainder of 4. The number
iz between 45 and §0. What is the number? :

Page B8 of 16 - Sub-Total ; |
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33. MrAhmad has 258 sweets. He gives some sweets {o B children. Each
child receives the same number of sweets. What is the most number of
sweets each child will receive?

34, The figure below is made up of 3 identical squares. The side of each
square Is 6 cm. Find the perimeter of the figure.

6 cm

Page BO of 15 Sub-Total :
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Secllon ©

 For questions 35 1o 40, show your working clearly and-write your answers in
the spaces provided. The number-of marks available is shown in brackets [ |
at the end of each question or part-guestion {20 marks)

35. Miss Tan gave some stickers to 9 pupils. She gave 78 stickers o each
pupil-and had 12 stickers teft. How many stickers did she have at first?

Ans: _ : [3]-

Page B10of 15 Sub-Total ; |
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36.

There are 578 lorries, cars'and vans In a car park.
There are 3 times as many cars as vans.

There are 30 lonles.

a) How many cars and vans are there altogether?

b) How many vans are thére?

Ans: {a)

2]

{b}

2

Page B11 of 15
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- 37.  Lucy and Mary had $450 altogethier. Lucy had $248 more than Mary.
How much money did Mary have?

Ans: . [3)

Page B12 of 16 Sub-Total :
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Sammy and Ali had an equal number of marbles af first. Ali gave
Sammy 408 marbles. In the end, Sammy had 830 marbles.

a) How many marbles did Al have in the end?

b} How many matbles did the two boys have altogether?

Ans:{a)y ... ... 21
(b) .. @
Page B13 of 15 Sub-Total : |
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39, There were some passengers on the train at the beginning. After 5
passengers alighted from the train and another 32 passengers hoarded
the train, there were 354 passengers on the train. How many passengers
were there on the train at first?

Ans: 131

Page B14 of 15 Sub-Total :
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40.

Mrs Tan baked a fotal of 254 blusbenies, chocolate and durian puffs.
The number of blueberries puffs was 4 times as many as chocolate puffs.
She haked 34 more chocolate puffs than durian puffs. How many
chocolate puffs did she bake'?

Ans: Bl

End of Booklet B
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ANSWER KEY

YEAR : 2020

LEVEL : PRIMARY 3

SCHOOL : ANGLO-CHINESE SCHOOL
SUBJECT : MATHEMATICS

TERM : SA2
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Q21| 32cm2
Q22

Q23

Q241296
Q25 | 1469
Q26 | $40.25
Q27| 2420g
Q28185
029 6.57 am.
Q30| 8876
0311592
Q3246
Q33[32

Q34| 48cm
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’ Q35

I 78x9=702
| 7024122714

Q36

['a) 578-30=548

Q37

 450-248=202

| 202:2=$101

Q38

| a) 422-408=14
| b) 422+422=844

Q39

[354-32=322

322+5=327

{ 34x5=170

 254-170=84

| 84+6=14

14+34=48
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